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2018 Set-A

Directions for the following items: Read the following
passages and answer the items that follow each
passage. Your answers to these items should be based
on the passages only.

freferRaa wsiien @ forg fafer: fferRaa ufeee)l &) ufey
3R Tede gf=eT & SR 3T aTel TN & SN Sl 39
HEien & 3Tqeh 9N 597 Resel gV &1 emg i1 w1l

Passage-1

Global population was around 1.6 billion in 1990—
today it is around 7.2 billion and growing. Recent
estimates on population growth predict a global
population of 9.6 billion in 2050 and 10.9 billion in 2100.
Unlike Europe and North America, where only three to
four per cent of population is engaged in agriculture,
around 47 per cent of India’s population is dependent
upon agriculture. Even if India continues to do well in
the service sector and the manufacturing sector picks
up, it is expected that around 2030 when India
overtakes China as the world’s most populous country,
nearly 42 per cent of India’s population will still be
predominantly dependent on agriculture.

g1

forer &t ST 1990 ¥ 1.6 IRT F AT M—aTTT TF
7.2 39 & TR & 3R 99 & 81 TwE gig W Ay g
BT & MDA W TE YATTAM BT & o frer &t Srrizear
2050 ¥ 9.6 3T 31X 2100 F 10.9 3RS B ATEH TR 37}
I SHRDT & WG W@l P A W AR HfIerd
SRiET & P A ot &, IR B T 47 ufrerd
ST B o= iR 81 af R Far & & e e
FxaT 2 AR ffmior & oot ¥ sear w, ar ot IF
AT T ST & 75 2030 & TH-UT I YR TN A
Y forepeT PR farer o1 WeRY 31fres ST arerT 397 8,
WRS P T 42 ARTT SHREAT T ®9 § B )
iR arfh

7. Which of the following is the most logical and

rational inference that can be made from the above

passage?

(a) Prosperity of agriculture sector
importance to India.

(b) Indian economy greatly depends on its agriculture.

(c) India should take strict measures to control its
rapid population growth.

(d) India’s farming communities should switch over to
other occupations to improve their economic
conditions.

is _of critical

7. SRf® aReos & freafafea & & @l waffte

TIfehep 3R ThwTe ot (SWpN) FrepTerT oI HepelT 272

(a) Py & Y FHFAT WIRA P oY ifres T $ 3l

(b) R refeaeaveT T ®U A st By W fik
PR Bl

(c) TR BT T ol W Tl ST Bl FrRif &y
P 17 PR SUTT 9T =R

(d) YR P PRI-TERT BT SO 3T Femalt & FuR
AT & Y 37 AT DY ST AT AT

Passage-2

Many pathogens that cause foodborne illnesses are
unknown. Food contamination can occur at any stage
from farm to plate. Since most cases of food poisoning
go unreported, the true extent of global foodborne
ilinesses is unknown. Improvements in international
monitoring have led to greater public awareness, yet
the rapid globalization of food production increases
consumers’ vulnerability by making food harder to
regulate and trace. “We have the world on our plates”,
says an official of WHO.

gfesg-2

ooy & SRR ET 81 T HHHUT W W AR ATl Ih
feeiY oft a=or # 2 W 21 9 e RuTehiaRur it st
WE TR TSI 81 RIS URIET H TR & HIROT ST
SITTedal ¥ Jerad g8 8, defd @rer Sared ¥ @i
oo & @ @ PRI A Jor sIRRaEd e
ISR B & HIRUT STHITHT Y VeIl 96 TE B Soeg, T
3. & U ATUBRY BT HAT &, “fore gAY e ;W E1”

8. Which of the following is the most logical corollary to

the above passage?

(a) With more options for food come more risks.

(b) Food processing is the source of all foodborne
ilinesses.

(c) We should depend on locally produced food only.

(d) Globalization of food production should be
curtailed.

8. fr=ifafad & & a1 SRiw aReos &1 waffe

ATfhd SUFTA (PRIeR) 82

(a) @ F ey 3 819 & BRUT R i ey
g

(b) TR TTEI-STTe SHTRAT BT SEH WTET TRAAROT B

(c) TN Pact TATNT IcuTfed @Ter ux FrrfR w51 gl

(d) T IUTE &b JEBROT F HkAT AT AR
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Passage-3

| am a scientist, privileged to be somebody who tries to
understand nature using the tools of science. But it is
also clear that there are some really important
questions that science cannot really answer, such as:
Why is there something instead of nothing? Why are we
here? In those domains, | have found that faith
provides a better path to answers. | find it oddly
anachronistic that in today’s culture there seems to be
a widespread presumption that scientific and spiritual
views are incompatible.

gRess-3

& demfe §, A1 A g 6 59 geR @1 @ § S
Rre & WAl BT SN FRE TPRT BT TS T B
aﬁwrugﬂﬂm%ﬁﬁwq%mﬁmrwﬁﬁﬁ%
Wwwﬁﬁaﬁﬂﬁéw ﬁ\ﬁféﬁwaﬂ?
BF ¥ T R 30 7t &7 o et @ 87 O aRi) A A
URIT & {3 3TTvreIT 37eh SR1 b 7Y S8eR AT Suels BRIl
B ¥ 3ol T WU A Prereew uIer § 6 T A
mﬁﬁwwwm@?ﬁ%ﬁﬁﬁaﬁmsﬁ?
ameTiere feram e 8

9. Which of the following is the most logical and

rational inference that can be made from the above

passage?

(a) It is the faith and not science that can finally solve
all the problems of mankind.

(b) Science and faith can be mutually complementary
if their proper domains are understood.

(c) There are some very fundamental questions which
cannot be answered by either science or faith.

(d) In today’s culture, scientific views are given more
importance than spiritual views.

9. SuYw uRees ¥ Frafafead § & sF-ar waifte

TIfhep 3R T e (SR) FrepTerT SIT HepelT 872

(a) TE fIeT™ 7T BIR TRAT & S i AFa-oItT HY
WY RT3 Y TS WehelT Bl

(b) e 3iiR ST STTUw ¥ WURS & W §, IfE Sh
T SRIRT B s foram S

(c) TO W AT Jor 1 & Foreiept ST R arerar
3T it & 78 < W B

(d) 3T 6t wvpfr F denfre et @, smeaTfcrs
fRreRY &t e 7 arfres A e S <eT 8

Passage-4

Though | have discarded much of past tradition and
custom, and am anxious that India should rid herself of
all shackles that bind and contain her and divide her
people, and suppress vast numbers of them, and
prevent the free development of the body and the
spirit; though | seek all this, yet | do not wish to cut
myself off from that past completely. | am proud of that
great inheritance that has been and is, ours and | am
conscious that | too, like all of us, am a link in that
unbroken chain which goes back to the dawn of history
in the immemorial past of India.

gfeee-4

FEfty 7 qga-AT QR OREURTSN Gd ST Br Q@ e @
aﬁ'\rﬁmgﬁwm I T Ifeat o SAR tep i
G'\P{mat-ﬁ%‘ At ¥ sk I A Pr TR B &,
3R ITH A IRRIET AR BT HT Bl § TAT WK T
3TeHT 3 ¥ T Y et 8 aefy ¥ A v amear §
oY ST-3TT BT SFAT F TR TRE DI TEl =Tt Te¥ o
TEH R R e e W R R g MR AT §
f5 & off, &7 Wit & TWRe, I Ige g i FSr § A
ST P SUTHTS P R &b AR 3l & Heag B

10. The author wants India to rid herself of certain past
bonds because

(a) heis not able to see the relevance of the past

(b) there is not much to be proud of

(c) heis not interested in the history of India

(d) they obstruct her physical and spiritual growth

10. TIES ATEAT & fo WIRA STUDT AT HALAT T I,
Fifp:

(a) T YTPTE & 3iifercT Y T FHT UTIET B

(b) 9T PB eI & T R T o T <

(c) ShH YRT & sferarT ¥ iy 7 21

(d) & P %ifere 3R reaTfeas faamrT &1 A &l

Passage
It is no longer, enough for us to talk about providing for
universal access to education. Making available
schooling facilities is an essential prerequisite, but is
insufficient to ensure that all children attend school and
participate in the learning process. The school may be
there, but children may not attend or they may drop
out after a few months. Through school and social
mapping, we must address the entire gamut of social,
economic, cultural and indeed linguistic and pedagogic
issues, factors that prevent children from weaker
sections and disadvantaged groups, as also girls, from
regularly attending and complementing elementary
education. The focus must be on the poorest and most
vulnerable since these groups are the most
disempowered and at the greatest risk of violation or
denial of their right to education.

gfeog

37 T Y AT U5 HT B Y AT T BT N
fog gafw 78 21 fenert gl Sudey R @
JTaeEd qatuem ar 8, fhg a8 GHa s & fag fe
Y a1 e O @ik e ft uftear ¥ v o, I8
e 21 Wva & 5 Rremer &, feg o= 7 ¢ a1 3o
HTE 915 e ors < ﬁmmsﬁ?mmm
(Rarerer AT ERT, BN AP ATHIRG, ST, masﬁw
sﬁ?msaé’rwéaﬁvﬁf&mqﬁraﬁwwmﬁaﬁ
ﬁmﬁmﬁaﬁgﬁmaﬁaw@%ﬁﬁ,m
a1 o, Fraf frene o sil aRfie Rrar o8 & &
AT &, JASHT AT TART €A e iR wawy
Waﬁw#aa@mm%qmﬂﬁsﬁmﬁmmm
%sﬁ?sﬁaﬁmﬂrmﬁ?sr&m\rmﬂm@ﬁm
I AR B BT e 3t SiRaw /1
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The right to education goes beyond free and compulsory
education to include quality education for all. Quality is
an integral part of the right to education. If the education
process lacks quality, children are being denied their right.
The Right of Children to Free and Compulsory Education
Act lays down that the curriculum should provide for
learning through activities, exploration and discovery.
This places an obligation on us to change our perception
of children as passive receivers of knowledge, and to
move beyond the convention of using textbooks as the
basis of examinations. The teaching-learning process must
become stress-free; and a massive programme for
curricular reform should be initiated to provide for a
child-friendly learning system that is more relevant and
empowering. Teacher accountability systems and
processes must ensure that children are learning. And
that their right to learn in a child-friendly environment is
not violated. Testing and redesigned to ensure that these
do not force children to struggle between school and
tuition centres, and bypass childhood.

fram & PR BT IRRT Froged siR sifrar Rram & wE
3T T & 3% 3w it & forg wuramaut R enfirer 1 orer
frer & st @1 St 3T 21 Ak fRrer uftkar & orar @1
3TMTE g, < = & S JAfUBR A afer & ST 3eT 21 ==
&1 frged w@ sfErt Rem @ sfer afufrew a8
3T Far & foF uTgshT H wRideTy, JFAwUT 3R @
& ATe 3 frem wifly 1y ST AT SR T W AT
qrezraT AT § 6 a=El o1 fem & e aweat § w0 §
ST PT AIANRAT IS Y R qA&TIA F AR F B A
UTQAYRIP & IUANT hr TRATEt ¥ 31T Far wmg1 freror aik
frem wgor yUeR @Y qETEE @ & anfey sk Rreme-
3FTcpett STTRATH TUTTelt hY eIt & forq uTgash™ e &7 T
S BRIPH 6 fhaT ST =1l i st | Sk
AerhlaR® 8 Riere STRaRica wonferl ok afimmsn &
7g sraed G BT anfee fF oo Rrem wmw a7 w2 & o
Rrameif-srgett arceRor # Rt ure H= & ST AfdR BT
Secied A& & g1 81wl AR qedie wonfer @y
TTIRIET 9 I 59 WU A O arftisfeus feam s e
aifes arg g 21 fF = Rener ok srftrer (ggem)
B3l & I FES PRA-BR AU FAUT ¥ G @ S B
qreg A

17. According to the passage, which of the following

is/are of paramount importance under the Right to

Education?

1. Sending of children to school by all parents

2. Provision of adequate physical infrastructure in
schools

3. Curricular reforms for developing child-friendly
learning system

Select the correct answer using the code given below.

(a) 1 only (b) 1 and 2 only
(c) 3 only (d) None of the above

17. 39 aRe0T & IR, FrafaRaa 9 & fpwer / fpar

e % 3R ¥ sl FafuR Aga & 2

1. it ATCT-RIdT §1RT 319 gTAt B RrEmer Y ST

2. freneral & wafe Wi smemRye WReAT 6 Sawer

3. Rrenefi-srygett Rramafy somelt Refea & &g
TGS TR HRAT

e fg g e BT TR R WE SR G-

(a) PaeT1 (b) PaeT 1 3R 2

(c) PaeT 3 (d) SUEH F A IS TE

18. With reference to the above passage, the following

assumptions have been made:

1. The Right to Education guarantees teachers’
accountability for the learning process of children.

2. The Right to Education guarantees 100% enrolment
of children in the schools.

3. The Right to Education intends to take full
advantage of demographic dividend.

Which of the above assumptions is/are valid?

(adlonly (b)2and3only (c)3only (d)1,2and3

18. Iufeh ufkess & we ¥, frreafaRad gduRomg g g 18 &

1. forem &1 PR s i Rrem-fiy uftear & fag free
BT ITRETRITT FDHY TS T B

2. farer @1 IReR et & s & 100% ATHT 89 &Y
TREY T B

3. Rram & AR”PR PT 3T SHIfFDIT ATHIL BT GRT ATH
FSM BT R

SUH & A BI-WT GEERUN/IERONG 99 378 2

(a) Paer1 (b) PaeT2 33 (c)Paer3 (d)1,2 3R 3

19. According to the passage, which one of the

following is critical in bringing quality in education?

(a) Ensuring regular attendance of children as well as
teachers in school

(b) Giving pecuniary benefits to teachers to motivate
them

(c) Understanding the socio-cultural background of
children

(d) Inculcating learning through activities and
discovery

19. 39 UReve & IR, fram & TUET @M g

frfaRad & & si9-a1 @ fofas & 2

(a) Tremer & seat $r 3iix Rrermt 6t off Frrafia sufrafy
gt a=am

(b) fererpl & Mcafed ax= & foag S+ nfdw ey
UG =TI

(c) =T HY AFIRAS-ARB RIS T P FHSHTI

(d) PRiGaT iR W & aregw § fRremmfy @
Siafiaer (gehedfeT afim)|
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20. What is the essential message in this passage?
(a) The Right to Education now is a Fundamental
Right.

20. 39 UREOT H ARYT AT AT ?
(a) frem T TR 39 9o SER B
(b) ferar &1 IRPR TS & e iR et amt & gt

(b) The RigL\t to I(Educatif:m enfab}l\es thf-: children oc\: BT RrerTer STy Y et arar Rl
Z:ho;oai\: weaker sections of the society to atten (©) ﬁf:?\l@? w i Rrem ¥ ok § w5 R
(c) The Right to Free and Compulsory Education ToTATqU fere enfiret 81T = fewl
should include quality education for all. (d) WRPR &I, iR Arar-frar aﬁ.‘xﬂ, Ig gy a=ar
(d) The Government as well as parents should ensure T1fay fop it g feremerr s
that all children attend schools.
gfee-1

Passage-1

‘Desertification’ is a term used to explain a process of
decline in the biological productivity of an ecosystem,
leading to total loss of productivity. While this
phenomenon is often linked to the arid, semi-arid and
sub-humid ecosystems, even in the humid tropics, the
impact could be most dramatic. Impoverishment of
human-impacted terrestrial ecosystems may exhibit itself
in a variety of ways: accelerated erosion as in the
mountain regions of the country, salinization of land as in
the semi-arid and arid ‘green revolution’ areas of the
country, e.g., Haryana and western Uttar Pradesh, and
site quality decline—a common phenomenon due to
general decline in tree cover and monotonous
monoculture of rice/wheat across the Indian plains. A
major consequence of deforestation is that it relates to
adverse alterations in the hydrology and related soil and
nutrient losses. The consequences of deforestation
invariably arise out of site degradation through erosive
losses. Tropical Asia, Africa and South America have the
highest levels of erosion. The already high rates for the
tropics are increasing at an alarming rate (e.g., through
the major river systems—Ganga and Brahmaputra, in the
Indian context), due to deforestation and ill-suited land
management practices subsequent to forest clearing. In
the mountain context, the declining moisture retention of
the mountain soils, drying up of the underground springs
and smaller rivers in the Himalayan region could be
attributed to drastic changes in the forest cover. An
indirect consequence is drastic alteration in the upland-
lowland interaction, mediated through water. The current
concern the tea planter of Assam has is about the damage
to tea plantations due to frequent inundation along the
flood-plains of Brahmaputra, and the damage to tea
plantation and the consequent loss in tea productivity is
due to rising level of the river bottom because of siltation
and the changing course of the river system. The ultimate
consequences of site desertification are soil degradation,
alteration in available water and its quality, and the
consequent decline in food, fodder and fuel-wood yields
essential for the economic well-being of rural
communities.

TG (Suifefther) falt wifds i Sia Scutesar &
T B I e N AT FRT aren o 8, s
TRUIMFREGY ICUTEaT S |Yui B1f+ 8t SRt 21 Tefy I
AT UI: I, Ty SR areurst wiiaat & ST 8% 2,
TR 31T SoUrpfesl H ot ST T ST ATCh &
wHaT B AHE-IwIe  weRiy wiRest @1 fmwor
(Suraferic) fafay wal & kg AT §: aRa sriRe, ST
fF o1 & ueielr &=t A &; 9y &1 aviie, S o e &
areferen iR g ‘gRamifer &, Sarevumef  sRamom ok
af¥et IR T ¥ § 3R I U g1, ST o W & et
Al IR FRARI-3TeBTeT & @® g4 3R °FAg 6
THRE THUTT B b HRUT BN ATl T AT TeAT B
AT B TP T QURNE  Selfae d g
uRaciHT iR Fafre Har ot divel & gt & Wit 21
T & TURU fFRUATE B § SIRET6R el &
qTEIT H B AT A SAFHAV F PRUT SeuwT B B
Iwrfeadia ofr, snhter ok afdr spifker # R
ITaaH WR TR 8] SWdfedHl WX uger ¥ & W Iea N
FAIET @, 3R a1 & A€ 8 S P SR Y AW arer
er YUY qunfert & ST RiaTee W W 9 W@ ¥
(=TT, WRSAT WY § W AT SR FIYT B
AT W)l UG F A H, TG q&T BT HH S A 8T
STsiaT-oRoT, fererly & F ofifT sRAY Sk smamgd
BICT AR & YT TN BT AT TI-IATEBTET  AMY I
afeacH i @t fear o wear 81 v e aRkem, S &
AT F B aTer Seef ey it st ¥ amar
I ISATT B1 I P ARIRIYUT PR ATl T ATeeptieran fora
FEIYH P ORI $ AT I dTel TREAR AT b BIROT
ARI-RTAT B 8 dreil &l & TN & &, UG A——arT Y
&ftr ik aRvmEwT 8 arelt =rr Searemar it 8,
TEGT P ISl AT IR ME—IRTS (RIee™) & HROT TE)-
del & ded S WX & BRI &1 TAeT  qo9aT & SifaH
aRumT & HaT freiiesor, Sueed Ster SfiR ST U F
HET & AT Taeas @, aRT 3R SH-$T8 IeueT F
RG]
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27. According to the passage, which of the following are
the consequences of decline in forest cover?

1. Loss of topsoil

2. Loss of smaller rivers

3. Adverse effect on agricultural production

4. Declining of groundwater

Select the correct answer using the code given below.
(a) 1,2 and 3 only (b) 2, 3 and 4 only
(c) 1 and 4 only (d)1,2,3and 4

27. 39 URTOT HIWR, Frafafed & & $H-F a9-
ITeBTE ¥ 31T 519 $ gRomg &2

1. SufegeTdtErty

2. aﬁmaﬁ—a?ma?raﬁr

3. Epﬁrmq\r;ﬁ%@—am

4. T Y gt

e g T e T TR IR AE STR G+

(a) Paer1, 23R 3 (b) PacT 2, 3 3R 4

(c) PaeT 1 3R 4 (d)1,2,33R4

28. Which of the following is/are the correct inference/

inferences that can be made from the passage?

1. Deforestation can cause changes in the course of
rivers.

2. Salinization of land takes place due to human
activities only.

3. Intense monoculture practice in plains is a major
reason for desertification in Tropical Asia, Africa
and South America.

Select the correct answer using the code given below.

(a) lonly

(b) 1and2only

(c) 2and3only

(d) None of the above is a correct inference

28. 3% uReog A, Frafafad & ¥ BH-RT W forsad

(SN¥) FTpTelT I AeparT & / FoepTer oI Webet 872

1. G & HROT AR & A7 § gfRacd= & e gl

2. 9f &1 FavivET PaeT AR fRaTdeTT B HIROT
BT

3. ATl ¥ TET U HRY-TRI, Iurmsfead ofw,
3ThYenT 3117 afdroT SRIReT & Hea BT ST HIROT B

FrAfT Y e BT TRFT PR T SR IF1Y

(a) a1

(b) Fae1 3R 2

(c) Paer23iR3

(d) SwIHF F P off 7 Forsemd 78 &

29. With reference to ‘desertification’, as described in the

passage, the following assumptions have been made:

1. Desertification is a phenomenon in tropical areas only.

2. Deforestation invariably leads to floods and
desertification

Which of the above assumptions is/are valid?

(a) 1 only (b) 2 only

(c)Both1and2 (d) Neither 1 nor 2

29. FHUET Heiey ¥, ST b afkess ¥ quiF fhar mn g,
frreafafad qgeaRomies 78 §

1.  TOUGH, Had SSUBICTNT &3 P Y TeAT Bl

2. 913 SR THHE, FAIE Barfard afRormT 8
Ieh # A BT qefemRoT/gEeROTS g 878

(a) PaeT 1 (b) e 2

(c)13iR239  (d)Tar13iRTE2

Passage-2

A diversity of natural assets will be needed to cope with
climate change and ensure productive agriculture,
forestry, and fisheries. For example, crop varieties are
needed that perform well under drought, heat, and
enhanced CO2. But the private-sector and farmer-led
process of choosing crops favours homogeneity adapted
to past or current conditions, not varieties capable of
producing consistently high yields in warmer, wetter, or
drier conditions. Accelerated breeding programmes are
needed to conserve a wider pool of genetic resources of
existing crops, breeds, and their wild relatives.
Relatively intact ecosystems, such as forested
catchments, mangroves, wetlands, can buffer the
impacts of climate change. Under a changing climate,
these ecosystems are themselves at risk, and
management approaches will need to be more
proactive and adaptive. Connections between natural
areas, such as migration corridors, may be needed to
facilitate species movements to keep up with the
change in climate.

TReve-2

STy TRl T AT v SR Ieuraeh Phy, arforeht o
faftrerar Y smaeadmar  &Ffl SeTERT ¥ g, R wrer
frRll T srTasaaT & S @, T AR wdr g8 co2 &
I 38T FreureT @R AfeT Bl @ g & g
feroi—arr siik fram—afRe wfhaT srfie srerar aciA Feman
¥ TS TS Uehvay PR BT e Rt & 7 6 9 feemt
BT ST STH&ITPT T, TS ITET P ST § /AT Ieaf
JeuTeT 3 ¥ el g aeH B, el 3R Sh a=
TR & Al WareEl f e Qe et
(W)a%aﬂawﬁaimwﬁawmiﬁ
JATALIHAT Tl ITHEITPeT ITEU0T TIRRaAT, S o e RIfte

-&aﬁtﬁamﬁmmwﬁaﬂ?ﬁmaﬁ
Wﬂaﬁﬁaﬂmﬁ'ﬁm%mﬁaﬁ e
Wﬁ%sﬁvwwﬁaﬁa&mmqﬁ-ﬂﬁm
3R Wm%i%%ﬁ%@a%mﬁ,ﬁ
FIR T & Y erft Rt fp Sierarg afvach @t |
fepar ST bl
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30. With reference to the above passage, which of the
following would assist us in coping with the climate
change?

1. Conservation of natural water sources

2. Conservation of wider gene pool

3. Existing crop management practices

4. Migration corridors

Select the correct answer using the code given below.

(a) 1,2 and 3 only (b) 1,2 and 4 only
(c) 3 and 4 only (d)1,2,3and 4

30. Sufw uReos & wed ¥ fFrafafad & & a9,
STeTary afReci ST AT $R & fIg Weres eiir?

1. WTTTeD STt AT BT FRET0T

2. IUEITHT ATYS S YT T ARET0T

3. frem v veee ugfoat

4. vETA TfRAR

=i g 7Y e BT TR AR e SR gAY

(a) Paer1, 23R 3 (b) FacT1, 2 3} 4
(c) Paer 3 3R 4 (d)1,2,33R4

31. With reference to the above passage, the following

assumptions have been made:

1. Diversification of livelihoods acts as a coping
strategy for climate change.

2. Adoption of mono cropping practice leads to the

extinction of plant varieties and their wild
relatives.

Which of the above assumptions is/are valid?

(a) 1lonly

(b) 2only

(c) Both1and2
(d) Neither 1 nor 2

31. Sudwh ufeos deiey §, Frafafad gdemomd e w §:

1. Siiferer @ fferdiesor, Setary aRacd™ T AT S 6t
T AIOT & B § BRI BT B

2. UPYNT BHA-USRT B UM W Uiey e 3R S
=g e, HI T 3R SRR e &

IUH A A P JEUROM/IILRUITY S 8752

(a) ®aer1

(b) Faer2

(c) 13R23="

(d) Tar1siRTE2

Passage-3

Today, the top environmental challenge is a
combination of people and their aspirations. If the
aspirations are more like the frugal ones we had after
the Second World War, a lot more is possible than if we
view the planet as a giant shopping mall. We need to
get beyond the fascination with glitter and understand
that the planet works as a biological system.

uRee-3
3ot ofit qarfervit TRt O I ST SeTaatt @
[ed ¢l Ay Smmeied fachia freryg & a8 &t et
&Y eI F ST g} Y Uap fremerenr i Hier &t ity
TET 81 B THP—SHD P IATHYUT P IX ST AT TAT TS
FHST aTfey o qedt v Sifdes o Y wifer e el 21

32. Which of the following is the most crucial and logical

inference that can be made from the above passage?

(a) The Earth can meet only the basic needs of humans
for food, clothing and shelter.

(b) The only way to meet environmental challenge is to
limit human population.

(c) Reducing our consumerism is very much in our own
interest.

(d) Knowledge of biological systems can only help us
save this planet.

32. Ifw ufess @, Frafafea & & s-w waife

ot iR afhes forseet (SWsT) FreTerT ST SepaT 22

(a) T2 A Y WTE, R TAT T3 hY bael TR
AT Y gfef AR Al 31

(b) TATERUNT AN BT AT HA BT (AT AFT ST
BT T BT R

(c) TR fAT SUNHIATE BT HH BT T & T F 31

(d) e e T3 BT ST & 89 gt B T9 § WES Bl

Passage-4

Some people believe that leadership is a quality which
you have at birth or not at all. This theory is false, for
the art of leadership can be acquired and can indeed be
taught. This discovery is made in time of war and the
results achieved can surprise even the instructors.
Faced with the alternatives of going left or right, every
soldier soon grasps that a prompt decision either way is
better than an endless discussion. A firm choice of
direction has an even chance of being right while to do
nothing will be almost certainly wrong.

uReoe-3

PO AN BT framsT & P Aiea T QA U R A A ST A
T & a1 Rergper 7E1 g I Rigia e &, w4 e
T Pl SAFAT B ST T & 3R srered & Raams ST wepedt
B IE AT I & I A A 7S & iR v afRom nfderet
@1 oft e # S1eT Wt 8 IR T AT SR I & et
T AT B UR, R A+ STear & wHet o & i it oft
TE A PT (P AR FofT T Siad =i § o e &
JER o fRl off feem &7 U gg g AR of ar SwH wE
B BT 79 off WA & [T & Safh PO T AT RTHT
¥ AR R e B
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33. The author of the passage holds the view that 33. 39 UR=DT & oI Bl I 7 ¢ fon—

(a) leadership can be taught through war experience (a) Wﬁmﬂ@ﬂmﬁﬂﬂﬁﬁmmmﬁl
only (b) < @1 T Y R ST e & wTer & Raamar of

(b) leadership can be acquired as well as taught ST WhaT 2l

(c) the results of training show that more people (c) ufdterr % o Ry § fF sem ¥ oifie onT
acquire leadership than are expected e aifiT RO Bl

(d) despite rigorous instruction, very few leaders are (d) S RO P IATIT
produced TS g

Passage-1 gz

All actions to address climate change ultimately involve | Sierarg afRect & fraRer @ & @it srfarfer & sia:
costs. Funding is vital in order for countries like India to | o siafifEa Bt 81 YR S 90 &F forg G AT
design and implement adaptation and mitigation plans T AT @i GRSt Br yepfeud va Praffad
and projects. The problem is more severe fo; BT ¥ BT Rraaor SRa w9 X g orE 8 yRT SR
developing countries like India, which would be one o ﬁ :

the hardest hit by climate change, given its need to Rrererefier et 3 ferg, Gﬁﬁ;m 1 waffrn AR
finance development. Most countries do indeed treat Srerareit F & g grm, et f%I?.b‘RT BT FHT TaLIHTATA
climate change as real threat and are striving to address BT TG §Y, Tg TAAT AR I TR 81 arfraper Sor Fifdya &
it in a more comprehensive and integrated manner with | SieTarg IREd BT A<D TR P WY § @ § SR I

the limited resources at their disposal. U & T Gl P 3ife @S SR Thigd adie
TRIRT R $b FTTRUT T T PR 2 B
49. With reference to the above passage, the following 49. gqﬁ?sqﬁ—éamﬁﬁr ﬁmﬁﬁgﬁq&ﬂmﬂqﬂqﬁqﬁ%
assumptions have been made: 1. Wqﬁaﬁq ﬁmﬁﬁéeﬁafmaﬁt—ﬁ?é’r%l
1. Climate change is not a challenge for developed 2 W%&ﬁ%ﬁl‘(’ Wﬁaﬂ?@ﬁﬁﬁmqﬂ
countries. ) ’ 2 °
23R 1o fereprer 7 H&T o
2. Climate change is a complex policy issue and also a R 3 o Yo SR R
development issue for many countries. 3. qre ofer et
3. Ways and means of finance must be fount to enable 3ol SR T & T Wl
developing countries to enhance their adaptive a‘q’d?ﬁﬁﬁaﬁq ?ﬁﬁwmﬁwqu%hr%‘/%?
capacity. (a) a1 3R 2 (b) FaeT 3
Which of the above assumptions is/are valid? (c) Paer2 3R 3 (d) 1,23k 3
(a) 1 and 2 only (b) 3 only
(c) 2 and 3 only (d)1,2and 3
Passage-2 TResT-2

Cooking with biomass and coal in India is now HRA & ST HIAT AT PRICT A T GebTT IR AARATSHT
recognized to cause major health problems, with T PRD F wT § ?‘Cﬁﬂg_cf g e frefs SR 6 Rt
women and children in poor populations facing the TAT T WATRIP SIRGT BT ATHAT DRl &1 TfeT I g7 =_y
greatest risk. There are more than 10 lakh premature 10 m-@rmmq—q WWWT S o5 @ =T
death.s each ye.zar from ho.usehold air pollution due to T TG TP S EﬁT 2 a; PHROT '&ﬁ'vﬂ' G IR
Erei contribetion to genera outdoor ar poution inthe | 7 % 38 T8I T 7o & 7 1.6 T = g A

e B , &1 Teifty s T a9 & $e, ORY R e, &, o, spfe
country. Although the fraction of the Indian population <
using clean cooking fuels, such as LPG, natural gas and I q farstelt, @1 SwERT R Tl YR SIS T
electricity, is slowly rising, the number using polluting femr -k sg <@ 8, ﬁwmgﬂqﬁ Hﬁ@@mﬁﬂﬁ
solid fuels as their primary cooking fuel has remained qTel U P BT ' IUTANT F o dlell AEAT T 30 st I
static for nearly 30 years at about 70 crore. 70 TS R R B

50. Which of the following is the most crucial and logical 50. B‘Cﬂfﬁ gz ﬁ frreaforfaa & ¥ eb-ar waifue
inference that can be made from the above passage? ﬁ'uﬁ-qa; 3R aTfhen s (SWHR) fFHrepTetT ST AepaT 87
(a) Rural people are giving up the use of polluting solid (a) IRUT OF, TORRY WAl & URT gedl SINReddT &

:‘uels ddue to their increasing awareness of health HRT FETE aﬁawéuw%ammaﬁmq% &
(b) Szzbas:'d:z.ing the use of clean cooking fuels will solve (b) il Er\rs & SR H EI'I'{II; & ;ﬁ ] ﬁaﬂf

the problem of India’s indoor air pollution. L & T o & l el
(c) India should increase its import of natural gas and <P fepaT oI SAepelT 81

produce more electricity. (c) ¥RdT Br ‘;ﬂﬂjﬁﬁv‘ T & T By IS TIfEY 2T
(d) Access to cooking gas can reduce premature deaths I faroTelY ScuTesT H=AT ATfEvl

in_poor households. (d) FrefT o_t § @ W A i T TR uge SN

SRS g BT foaT ST HepeT 21

Separate explanation videos are available in English & Hindi | 37asft 3ilx &Y & 3rerer-arerer AfAY 3qerstr §
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Passage-3

Scientific knowledge has its dangers, but so has every
great thing. Over and beyond the dangers with which it
threatens the present, it opens up as nothing else can,
the vision of a possible happy world; a world without
poverty, without war, with little illness. Science,
whatever unpleasant consequences it may have by the
way, is in its very nature a liberator.

gRete-3
T & 81 S Gdhel b W, RFTP FRT I8 S adH T By
TRIT &, T wruTfre qedt e, o o TR 8, 35—
fed &, T B, S vfersy Frmuor (o) wRar 8, 9 ek
it ;¥ 81 B Apam frs & AR A off iy ufkom &
[ ©, a8 AU fordry o F HfehaTaT 71

51. Which one of the following is the most important

implication of the passage?

(a) A happy world is a dream of science.

(b) Science only can build a happy world, but it is also
the only major threat.

(c) A happy world is not possible without science.

(d) A happy world is not at all possible with or without
science.

51. frfafed § & d9-91 W 39 gReoe & qed

wecaqut frfeameia?

(a) ! forer e b1 waeT 21

(b) forsT & Ua Y frer &7 FrAfor AR W & AT TF
BT TST e WY Bl

(c) o o fer et Ry wva 78t &1

(d) T Rrer @7 BT et g 8 @, R AT ar T
an

Passage-4
The Arctic’s vast reserves of fossil fuel, fish and minerals
are now accessible for a longer period in a year. But
unlike Antarctica, which is protected from exploitation
by the Antarctic Treaty framed during the Cold War and
is not subject to territorial claims by any country, there
is no legal regime protecting the Arctic from
industrialization, especially at a time when the world
craves for more and more resources. The distinct
possibility of ice-free summer has prompted countries
with Arctic coastline to scramble for great chunks of the
melting ocean.

gfeoe—4

aﬁﬁzﬁaﬁﬂmeqs‘m,waﬁv@ﬁﬁaiﬁgaw
g af ¥ FE ARE T W qB FAW & Al
sierhiesr, S f6 ofid gg (Pies m%ﬁ\’ﬁas‘
SeTdfas R 3 PIRUT oMo A TRANT ¥ ok Rt off Ser
FRT fFY S dTer ST At & i Tl 31T, &
Rod ardhfes ot SarfiaRr & WA @ F fag aig
BT e Tel &, frawe sw W o frer o &
Siftrep wwTeT & g arenfia 21 fea-—e Ao At graw
HYTGET ¥ AThfed de arer 2 # freed 9FR & s
QUEl it BT—AUST &b g Searfe forar &1

52. Which one of the following is the most important

implication of the passage?

(a) India can have territorial claims in the Arctic
territory and free access to its resources.

(b) Melting of summer _ice in the Arctic leads to
changes in the geopolitics.

(c) The Arctic region will solve the world’s future
problem of resource crunch.

(d) The Arctic region has more resources than
Antarctica.

52, frifafea & ¥ BF-9T (B 39 IRTDT &1 |qE

weeaquf ffeamfd?

(a) YRT ATHfed UeT H ASTLNT ST B FPaT & AR
I AT qD SADT Teh TS & Aepei 2

(b) 3fes & fie few 1 Rererr Yot F aRecd=r
BT HRUT FAT I

(c) 3rmhfem & ufrsy & frer & waremT it HY Hr 4Ry
THET BT AT

(d) 3rmhfee & % sieThfemT i rfied wwTe 81

Passage-5

Being a member of the WTO, India is bound by the
agreements that have been signed and ratified by its
members, including itself. According to Article 6 of the
Agriculture Agreement, providing minimum support
prices for agricultural products is considered distorting
and is subject to limits. The subsidy arising from
‘minimal supports’ cannot exceed 10 per cent of the
value of agricultural production for developing
countries. PDS in India entails minimum support prices
and public stockholding of food grains. It is possible
that, in some years, the subsidy to producers will
exceed 10 per cent of the value of agricultural
production.

aRevTE-5

o, &Y. 1. T A B b PIRVT WA S st ¥ gt
TN & T IR IRT WA 39 WSl 7 SR g & o
gl fopam &1 T oTeT € 6 B wHEit b argene 6
& AR P IUTRT & Y AT T qed Suerey
TR W farphy smed 3k s el & a1 <=ar W B
AT TP A Seu MM W faerasier Seif &
fog Y Scurer & qow & 10 wRyerT W arf T @
T IR A 0. S g, & fg e weiE qe sik
GTRITT BT AT+ Wbt AMaedd 81 Ig wva &
PO qul § ScUEd! P S A ATt RS WeRET PRy
IeuTeT & eI & 10 FfRrerT F stfdre g AW
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53. What is the crucial message conveyed by the above
passage?

(a) India should revise its PDS.

(b) India should not be a member of WTO.

(c) ForlIndia, food security collides with trade.

(d) India provides food security to its poor.

53. SUYH UReoT a7 fFor waer a1 872

(@) MRS DY 9= Gt . T, BT G RIT BT a1yl

(b) WD BT Secy. &Y. 3. BT A TE BT AT

(c) WRA & foIQ, WTer YRAT AR &b AT THIG Icq~T
BT Bl

(d) IR 37O TSN Y WTeT JR&T T Bl

Passage-6

India’s educational system is modelled on the mass
education system that developed in the 19th century in
Europe and later spread around the world. The goal of
the system is to condition children as ‘good’ citizens
and productive workers. This suited the industrial age
that needed the constant supply of a compliant
workforce with a narrow set of capabilities. Our
educational institutes resemble factories with bells,
uniforms and batch-processing of learners, designed to
get learners to conform. But, from an economic point of
view, the environment today is very different. It is a
complex, volatile and globally interconnected world.

afkeoe-6
YRS &Y et qumrelt S amaw fRiam qumelt & T o= o+ &
St R #19&9@‘&#%&33‘5‘@?&1‘6#%’&#%
T T e a1 9ie ¥ R qwal @Y e TR Wik
ScuTed e & WU 7 efea  fear STwl Ig @EwRr
stafe g1 & g Sugw of R Wfa emamarer
ST Sifiel @ IR gt @ ArT o g Rreror
BT & ok fRrenf¥fa & ooy R forg Sy €, Ry Rrameff s
rguTer & g & aTg o W@ 81 fewg smfies gftetor &
geia arareRer qoia: R 81 a8 o afea, sifer o
WS WY W 37T Hei T W 21

54. With reference to the above passage, the following

assumptions have been made:

1. India continues to be a developing country
essentially due to its faulty education system.

2. Today’s learners need to acquire new-age skill-sets.

3. A good number of Indians go to some developed
countries for education because the educational
systems there are a perfect reflection of the
societies in which they function.

Which of the above assumptions is/are valid?

54. Iuwh ufRens & v ¥, frrafaRad qeumom s 3 8-

1.

YRS T fequt e somrelt & PRor dead: Rreprrefer
A FATEIAEN

3T & Rrenf¥ & g 97 g & Brerd-wg 9TH S
ATILTD B

B AT ¥ MR e wme weep o 3o Rl
Seif 7 9 € ifes gt i Rram yonfert I TSI @1
of sfcrfereer & fors derd et 81

m#ﬁaﬁmﬁqﬁaﬂvﬁm@m%ﬂ@%’

(a) 1 and 3 only (b) 2 only (a) Pl 3R 3 (b) PacT 2
(c) 2 and 3 only (d)1,2and3 (c) PaeT2 3R 3 (d)1,2 33
yfewe-7

Passage-7

The practice of dieting has become an epidemic;
everyone is looking out for a way to attain that perfect
body. We are all different with respect to our ethnicity,
genetics, family history, gender, age, physical and
mental and spiritual health status, lifestyles and
preferences. Thereby we also differ in what foods we
tolerate or are sensitive to. So we really cannot reduce
so many complexities into one diet or diet book. This
explains the failure of diets across the world in curbing
obesity. Unless the reasons for weight gain are well
understood and addressed and unless habits are
changed permanently, no diet is likely to succeed.

TR0 (STEFEM) BT Srare TETRY o TP §; &R DS
Th A RR UTH P & R & darer ¥ g g7 WY
oA, STgafmht, aRarie sfuer, fom, oy, emdfve
3R 9FRTe ToT ameafend waver Ry, Siamdel w@
T b e ¥ Rt &) 39 BRUT I 89 foh 3IER Y We
PR b & AT ForvT SmER & Ul waemieler &, s arwar § off
i &1 o/ 89 IR ¥ M Sfeerarsi § FHY U IER
IT AMER-IRTBT F TE o whadl I8 freanR F Aewr w®
foRI=IoT T H JMMERT (S15¢) FI' fAWerdT B TUT FReT 81 9
TP Toi g b BRUI PI Hel—HifT TH=T & QT iR
I¢ R T8 AT ST SR O q@ Tedl B R AR W)
ST & ST, BIS Y TR NI el & &Rl

55. What is the most logical and rational inference that
can be made from the above passage?

(a) Obesity has become an epidemic all over the world.
(b) A lot of people are obsessed with attaining a
perfect body.

Obesity is essentially an incurable disease.

There is no perfect diet or one solution for obesity.

(c)
(d)

55. Indeh UREDT AP Wil drfehes 3R TEHeTT
sy (SWRT) FrepTelT T WepelT 872

(a) Hremr iR ¥ v TErEr a9 T Rl

(b) TETA— AT A8 AR HTH HA Y 4 F 1T 8l

(c) HeTuT dxae: U SRATET T B

(d) ¥eTd & g IS Ut STETR 37eraT U FHTHT 8l &l
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Passage-8

Monoculture carries great risks. A single disease or pest
can wipe out swathes of the world’s food production,
an alarming prospect given that its growing and
wealthier population will eat 70% more by 2050. The
risks are magnified by the changing climate. As the
planet warms and monsoon rains intensify, farmlands
in Asia will flood. North America will suffer more
intense droughts, and crop diseases will spread to new
latitudes.

uRede-8
TS P A 7 ¢ FARET 81 B TarsT 77 AT Gsd
frenv= & @Ter ITUTET &I HART BT THE AT BR AHT &,
U WIS T U8 & o et et g8 siR arempa
FTET ST 2050 TH 70% 3R 31 @Ter &1 SuHRT
i afafid ekt Sterarg & & St ik siftes 98 MY
Bl SR % W ENT SfR AR ant § e sme,
TR 6t PRYPET AR 8 STwi ST sEReT @t
31 TET [ BT WHAT HAT ST SR Hel & I Y

R e fereaTRer 8 SITg
56. Which of the following is the most logical, rational 56. fer=iferiaa ¥ W @iH—T Haifie aifthes, ahama iR
and crucial message given by the passage? froTiae Weer s uReee g e I 87
(a) Preserving crop genetic diversity is an insurance (a) P Gfe fafrar @ WRRE T Seay
against_the effects of climate change. Wa;ma;mmgf e

(b) Despite great risks, monoculture is the only way to
ensure food security in the world.

(c) More and more genetically modified crops only can
save the world from impending shortages of food.

(d) Asia and North America will be worst sufferers
from climate change and the consequent shortage
of food.

(b) & 3fre SRe & & aTag, forer ey {Ram @
AT R BT AT SUTT TpeT=a iy &1 2

(c) RE-A-a1ftew el dR W= wuraRe wer &
Paer Af+Tde @Ter HHY I farer & B el B

(d) Serarg aRedd 3iiR Jeefa @mer i &« oRRT
SR I srReT e g AR T BN

Passage-1

The quest for cheap and plentiful meat has resulted in
farms where more and more animals are squeezed into
smaller lots in cruel and shocking conditions. Such
practices have resulted in many of the world’s health
pandemics such as the avian flu. Worldwide, livesotck
increasingly raised in cruel, cramped conditions, where
animals spend their short live under artificial light,
pumped full of antibiotics and growth hormones, until
the day they are slaughtered. Meat production is water
intensive. 15000 litres of water is needed for every
kilogram of meat compared with 3400 liters for rice,
3300 litres for eggs and 256 for a kilogram of potatoes.

qRetE-1

TR 3R TR A 6 Farer d gRUTRaRY haedt Bt 1Y
g & oret st W arfire aerel @Y 3R Sii eerir qemel ¥
BIA-BIE AT ¥ g1 T B 39 UBR & WA &
gRurmRaRY fag Hf eMe varey Aed) SenaRTri AgmTRar
33 Gl g8 €, o o ofrae vyl fren & were @1 arer
TR ot §% v 311 o qermat ¥ fFa o <aT 8, St oy
ST oY Sfta HET HaTer, uROf@T ik afg gWT &
ST ST & &1 a9 8 & & T Idid B 81 79
JUTS STeT Y 3T @Ua HRTGT 81 T & Tl fhetumd
& fTT 15000 ofIeR STeT Y T Bl & Sefes 1 fpetam
o1 & 1Y 3400 ofieR, 1 freumT it & fo17 3300 ofiex 3k
1 fepeirm 31Te] & 1Y 255 efieR STet &t srraededT g Bl

78. What is the most rational and crucial message given

by the passage?

(a) Mass production of meat through industrial
farming is cheap and is suitable for providing
protein nutrition to poor countries.

(b) Meat-producing industry violates the laws against
cruelty to animals.

(c) Mass production of meat through industrial
farming is undesirable and should be stopped
immediately.

(d) Environmental cost of meat production is
unsustainable  when it is produced through
industrial farming.

78. 39 UR=DT R e T waifye ahwra &k fFofas

WY BT R?

(a) sitenfie ugmTer (Fsieae wiffn) & 33 &M o 9w
BT STUTSH PHRAT AT BT & 3T IE TG 20 & WS
TN HET R P TG Iueh Bl

(b) = Scure JeENT uEi & Uiy R & freg Srr o
Soea PRaTRl

(c) 3itenfe uyEred & FRT & UM WR A Soured
JATBTRE 3R ST R A AT AT

(d) i Scure i qgfaroiT o sramofir 8l & o
TPT ScUTE 3iTenfires ge[aTer & foma STre &1
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Passage-2

A male tiger was removed from Pench Tiger Reserve and
was relocated in Parma National Park. Later, this tiger
trekked toward his home 250 miles away. The trek of
this solitary tiger highlights a crisis. Many wildlife
reserves exist as islands of fragile habitat in a vast sea
of humanity, yet tigers can range over a hundred miles,
seeking prey, mates and territory. Nearly a third of
India’s tigers live outside tiger reserves, a situation that
is dangerous for both human and animal. Prey and
tigers can only disperse if there are recognized corridors
of land between protected areas to allow unmolested
passage.

gfeg—2

TP X 9T B U G IMARVY (STFR Rerd) F gy o
IS T F oF TR @ AT 1S H, FH ST+ 30 &R Y 37|
250 HieT it g TF Bl T bl ATE DY TE ATAT Yeb HDE Y|
YhTeT STl 81 P 9T ST MMIRUY H-adT & fI2mel AFR &)
S WTR MaT & &l $ wa § RreEe 8 R o a9 T
RIR, SIS 3fiR 3w & & qemer § @ N F =R F 'm
FepaT &1 YR P T Uh—{T8TS aTe, 9Te IMYIARUAT P Tex
T&d &l I Reftr /e iR agg ST & forg & Wepegof 81 A,
3R SA®P RIPR T 37erT I Fat © Al SvARuAT & e ]
P I AR B, 1M I faT B SBTES & 31— Hehl

79. Which of the following is the most rational and

crucial message given by the passage?

(a) The conflict between man and wildlife cannot be
resolved, no matter what efforts we make.

(b) Safe wildlife corridors between protected areas is
an_essential aspect of conservation efforts.

(c) India needs to declare more protected areas and
set up more tiger reserves.

(d) India’s National Parks and Tiger Reserves need to
be professionally managed.

79. 39 Reve gRT femm T waife adhaTa iR Fufkae

o1 Frrfafaa & @ pH-aT 8?2

(a) AT SR a7 og & e Fenf T Fersrrar TE S FHdT
e T AT Y T N

(b) WRfET & & g Wi o= g TR, w@Rewr &
TRICT T AT IS 2l

(c) YRA & fIT sraeus & fop g iR aifte wRfdma &= &t
GO R AT 31X 31T ST STARULT Y FATIHT R

(d) ¥R & I U 3R T8 ARUAT BT ATTARIS
(STReTTeT) SISTeT 81T TTfEyl

80. With reference to the above passage, the following

assumptions have been made:

1. The strategy of conversation of wildlife by
relocating them from one protected area to
another is not often successful.

2. India does not have suitable legislation to save the
tigers, and its conservation efforts have failed
which forced the tigers to live outside protected
areas.

Which of the above assumptions is/are valid?

(a) 1lonly

(b) 2only

(c) Both1and2

(d) Neither1nor2

80. I UR=eT & wew , FrferRac gdemony a=rs ¢ &:
1. U WO & & R WA & Ser-afad gy a=r
ST & SRE0T R Y U U1 ket TEY Brdt 21
2. W STl Y GRET & oY Sug ST TE § SR e
TRETUT HYRITT 3TheT & MY & Rrdperur arg W=
&1 W TR G W AT B

ST § ¥ BT THURUT/IERUIG &9 2/8?

(a) Saer1

(b) FaeT2

(c) 13iR23MT

(d) Tar13iRTEr2

Separate explanation videos are available in English & Hindi | 37asft 3ilx &Y & 3rerer-arerer AfAY 3qerstr §
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